
(1)

GBS

R950960100 (Krom, Chrome)

2 mm

30 mm

2

1

3

2

1

4

5

6

7

8

9

1

2

10

11

12 13 5 14 15 16 17

19

20

18

37

36

38

21 22 23 24

25 26 27 28
29

30
31

32
33

34

35



Art.No.Titel / TitleAnt/QtyPos.
 Packning G½" (R15) / Packing G½" (R15)31
 Anslutningsvinkel G½" (R15) / Connection 90° G½" (R15)32
 Blandarhus / Mixer body13
 Omkopplare  G½" (R15) - G¾" (R20) / Reduction G½" (R15) - G¾" (R20)14
 O-ring 17,17x1,7825
 Anslutningskoppling G½" (R15) / Connection kit G½" (R15)16
 Kopparrör Ø15 mm / Copper pipe Ø15 mm17
 Anslutningskoppling 90° G½" (R15) / Connection kit 90° G½" (R15)18
 Hus för tätningssats / Body for cartridge19

98856Omkastare / Diverter110
 Bult M5x55 / Bolt M5x55411
 Låsring för backventil / Locking ring for non return valve112
 Flödesreglerare 8 L / Flow reduction valve 8 L113
 Insats till hus G½" (R15) / Insert for plug G½" (R15)114
 Nylonring / Nylon ring115
 O-ring 14,30x2,62216
 Hus till blandarpip / Plug for spout117
 Kromplatta till LM398 / Chrome plate LM398118
 Insexskruv M5x30 / Inox screw M5x30219
 Insexskruv M4x6 / Inox screw M4x6120
 O-ring 20,22x3,53121

98856Förlängare till omkastare / Extension rod for diverter122
98856Förlängningsrör för omkastare / Extension pipe for diverter123
98856Omkastarknopp / Knob for diverter124

 O-ring 40,87x3,53125
 Justering tätningssats / Reduction for cartridge126
 O-ring 8,73x1,78327
 Elastisk plugg / Elastic plug228
 Insats för tätningssats / Insert for cartridge129

98855Keramisk tätning / Ceramic cartridge130
 Fästmutter tätningssats / Cartridge fixing nut131
 Täckbricka / Cover cartridge132
 Blandarhandtag / Mixer handle133
 Insexskruv M4x4 / Inox screw M4x4134
 Täckhatt krom / Cover nut chrome135
 Blandarpip / Spout136

99005Duschhandtag krom / Shower handle chrome137
99006Duschslang G½ (R15) L: 150 / Shower hose G½ (R15) L: 150138

(2)
2011-01-01


